5/4/2017

Centrifuge parts #2.JPG

REPAIR PARTS LIST

Garver MILK and CREAM TESTERS (Babcock Type)

45C 43C

20C I

- o
21C |
22C —o 44C 42C

PART NO.

20C & 21C ROTOR, complete with shaft. (Make-up varies for
different models — furnish Serial Number and Model.)

22C  NUT, brass, " left hand, for motor top

23C  ROTOR SHAFT for all models.

24C & 25C STATOR (Make-up varies for different models — furnish
Serial Number and Model.)

26C  NUT, %" right hand, for motor bottom

27C  MOTOR HOUSING LID, cast aluminum, with bearing

28C  NUT FOR CARRIER AND VISISCOPE, left hand threaded

29C  BEARING, oilless type, for top of motor

30C BEARING, oilless type, for bottom of motor

31C  BALL BEARING SET SCREW

32C  BALL for bottom of motor

33C MOTOR HOUSING, cast aluminum, with bearing (Furnish

Serial Number and Model.)

34C  VISISCOPE (speed indicator)

38C THERMOMETER HOLDER only

39C THERMOMETER only

40C & 41C PILOT LIGHT ASSEMBLY Model & Serial

42C SPEED CONTROL KNOB for Super Series

43C TOGGLE SWITCH, double pole, for any model

44C OHMITE TAP SWITCH for speed control of Super Series

45C THERMOSTAT, less wiring

46C SPEED CONTROL HOUSING for Super Series

47C & 48C SPEED CONTROL TRANSFORMER for Super Series

49C HEATER, 500 watt, 4" diameter, complete

DESCRIPTION

40C & 41C

47C & 48C
' N

60C 62C 64C 66C

AT ALY

58C 59 61C 63C 65C 67C

PART NO. DESCRIPTION

50C HEATER PIN to connect heater to plug (2 required)

51C  LAVA BUSHING for heater pin (2 required)

52C CORD AND PLUG for heater

53C  BOLT for heater clamp, 10-24 x 1"

54C HEATER Clamp, 500 watt

55C HEATER, 750 watt, 7'/2" diameter, for Super Series

56C SWITCH BOX, aluminum, for Standard 4, 8, 12 and 24 bottle
testers using 6" glassware

§7C  SWITCH BOX for 200 Series

58C HANDLE for lid of Super and 200 Series

59C BOLTS for mounting bowl (Part No. 1) and motor. Requires
seven RH /i" x %" bolts and one RH /4" x 12" or 1%
bolt.

60C BOLTS for mounting bowl (Part No. 5) and motor. Requires
seven RH '/+" x '/2" bolts: one RH '/«" x 1'/s" bolt.

61C  BOLT for mounting thermostat, 8-32 x 1'/+" (2 required)

62C  BOLT for attaching lid to bowl, 10-24 x /2" (3 required)

63C  BOLT AND NUT for heater guard, Super Series, 8-32 x '/&" (2
sets required)

64C  BOLT for bowl lid hinge, 10-24 x %" (8 required)

65C  HINGE for tester lid (2 required)

66C  PILOT LIGHT BULB

67C BOLT AND NUT for motor housing, 3-16 x 4'/2" (3 sets
required)

68C & 69C MOTOR, complete (not shown). Consult parts price list for

various models, or give Serial Number and Model.

In ordering, please furnish both the part number and the description — as well as
the serial number and model or type number shown on your tester namepiate.

GARVER MANUFACTURING CO., P.O. BOX 306, UNION CITY, INDIANA 47390

https://mail.google.com/mail/u/0/?tab=cm#inbox/15bd3ba70ebb852e?projector=1

7



